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CBT Sample assessment model answers

Management Accounting: Costing (MMAC)

Sample assessment 1

Task 1  (16 marks)
[image: image2.png]Drag and drop the correct cost into the cost column of the table below to record issuing 350 of these
containers on 11 December and to record the inventory balance after the issue using:

» AVCO (weighted average cost)

~ FIFO (firstin, first out).

(16 marks)

AVCO issue £5740 £6,670
FIFOissue £5,635 £6,690
AVCO balance 5724 £5839
FIFO balance £6.829 £6,625





Task 2  (16 marks)
[image: image3.png]Complete the cost journal entries to record the four payroll payments made last week.

8 Decemper  [6001 Paint manufacture direct costs sa00
8 December _[6000 Wages control account 5900
10 December [5002 Canning and packing direct costs. 100
10 December |5000 Wages control account 5100
12 December [7000 Operating overheads, 2300
12 December |5000 Wages control account 2300
14 December [B000 Non-operating overneads 2800
14 December |5000 Wages control account 4500





Task 3  (12 marks)
[image: image4.png](a) Complete the gaps in the table below to calculate the total labour cost for Team 3. 8 marks)

Basicpay 700 8400
Overtime rate 1 50) 1080
Overtime rate 2 20) 720
Totalcost before bonus 790) 10200
Bonus payment 200
Totalcostincluding bonus 11100

(b) Calculate the total labour cost of packing each box in the month of December. (1 mark)

The total labour cost of packing each boxin the month of December is: £ 4]

There are five employees in Team 3.

(c) Complete the following sentence. 3 marks)

The basic pay and overtime for each member of Team 3 for December was: £ 2040

andthe bonus payable to each team member was: £ 180





Task 4  (18 marks)
[image: image5.png](a) Complete the table below to identify a suitable basis for allocating o apportioning each overhead by
‘selecting the most appropriate option from the drop-down lists.

B

appo

Depreciation of mixing equipment [Carming vaiue of miing equipment Rl

Rentana etes ot pocuctonceparments | Fammntnsra ol
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Canning squpment maintsnance costs | e spen sowiong canning extprrer [l
Canning eauipment nsurance costs | [Carmgvelus ot commng sawprert__ il





Task 4  (continued)
[image: image6.png](b) Complete the table by reapportioning costs on the basis of the information given above.
Enter your answers in whole pounds only. Indicate negative figures with minus signs, NOT brackets.
Each cellin the bottom five rows must have an entry in order to gain full marks.

Paint  Canning e
Manufa P: L

Depreciation of equipment | 634000 815000 115000 87.000 167,000 181,000

Heatandligntofpremises | 178000 197000 25000 32000 43000 476,000

Rentandrates ofpremises| 273000 311000 64000 95000 82000 825,000

‘Administration costs 185000 185,000

Ingirect abour costs 148000 133000 151000 121000 197000 753000

Totals 1231000 1461000 356000 335000  674000| 4058000

Reapportion General

s 269500 | 269500 67400 67400 | 674000

Reapportion Stores 242040 | 161380 ~403400

Reapportion

sl 237104 16208 | 423400

Total overheads 1o

profit centres 1979744 | 2078256 4,058,000





Task 4  (continued)
[image: image7.png](c) Complete the following sentences by inserting the correct values. (2 marks)

The fixed element of the machine running costs that will be apportionedto the Paint Manufacture profi centre is:

£ [211880

The variable element of the machine running cost that will be apportionedto the Canning & Packing profit centre is:

£ [os760





Task 5  (15 marks)
[image: image8.png](a) Calculate the budgeted overhead absorption rate for the Paint Manufacture profit centre based on
‘machine hours, and that for the Canning & Packing profit centre based on direct labour hours.
‘Show your answers to TWO decimal places. (4 marks)

Paint Manufacture  Canning & Packing

Budgeted overhead absorption rate| [62.50 per hour| [25.16 per hour

Now suppose for Quarter 2 that the overhead absorption rate for the Paint Manufacture profit centre had been
based on direct labour hours, and was £28 per hour. The actual overheads were £213,200 and the actual
Iabour hours worked were 7,400 hours.

(b) Complete the following table. 8 marks)

Paint Manufacture profit centre

() Refer to the information for Quarter 1, at the start of the task, and complete the following sentence. 3 marks)

In Quarter 1 overheads for the Canning & Packing proftcentre were [under-absorved [l b & [1412¢





Task 6  (25 marks)
[image: image9.png](a) Calculate the estimated prime cost per BATCH of WR52. 3 marks)

3 208000

(b) Calculate the estimated marginal production cost per BATCH of WR52. 3 marks)

3 292000

(c) Calculate the estimated full absorption cost of one BATCH of WR52. 3 marks)

3 326000

(d) Calculate the estimated marginal production cost of one CAN of WRS2 (round to TWO decimal places). (2 mars)

3 584

(e) Calculate the estimated full absorption cost of one CAN of WRS2 (round to TWO decimal places). 3 marks)

3 652





Task 6  (continued)

[image: image10.png]() Which of the following costs would NEVER be included in CPL's inventory valuation? (3 marks)

Marginal costs

Period costs

Prime costs

Product costs

(g) Which of these is an example of unethical behaviour by one of CPL's accounting technicians? (2 marks)

Calculating profits objectively rather than subjectively.

Valuing inventory so as to maximise a period's profits

Treating CPL's costs as configential

Allocating CPL's costs between products objectively.





Task 6  (continued)

[image: image11.png]() Why might CPL decide to allocate its costs between the products of different departments? (3 marks)

To comply with accounting standards.

To reduce its overall inventory valuation.

To report segmented profitsflosses.

To speed up its internal reporting.

CPLs Paint Manufacturing Depariment s a profit centre.

(i) Which of the following does its management control? (2 marks)

The departments variable costs

The departments total (variable and fixed) costs.

The departments total costs and revenues

The departments total costs, revenues, asssts and liabiliies.





Task 7  (16 marks)
[image: image12.png](a) Choose the correct description for each of the three terms below.

Contribution

D

ripti

[Geliing price less variable costs

Breakeven revenue

[Sates revenue where there is neither profit nor loss

Margin of safety

[Excess of actual sales over breakeven sales





[image: image13.png](b) Calculate the breakeven volume of MP16. (2 marks)

19000 cans

(c) Calculate the breakeven sales revenue of MP16. (2 marks)

3 95000





Task 7  (continued)
[image: image14.png](d) Calculate the margin of safety of MP17 (in cans) if CPL sells 20,000 cans. 3 marks)

4000] cans

(e) How many cans of MP17 must CPL sellto reach s target profit of £31,5007 3 marks)

25000] cans





Task 8  (16 marks)
[image: image15.png]Drag and drop the correct option into the box below to show the correct description for the following
four types of cost. (16 marks)

Fixed cost Option 5

Variable cost Option 1 Option 2

‘Semiariable Option & Option3

cost

‘Stepped cost Option 7 Option 4 Option 8





Task 9  (16 marks)
[image: image16.png]() Complete the table below to show a flexed budget and the resulting variances against the budget for
GL78 in December. Show the actual variance amount for sales revenue and each cost in the column
headed ‘Variance'.

Note:
+ Adverse variances must be denoted with a minus sign or brackets.
« Enter 0 where any figure is zero. (13 marks)

Number of cans, 45,000
Sales revenue 225000 202500 207400 4900)
Less costs:

Diredt materials and

e e 45,200 40680 46,160) 5480
Variable overheads 36,400) 32760 315610) 1150
Fired overneads 74,800) 74800 75,300) 500
Profitfom 68,600 54260 54330

operations





Task 9  (continued)
[image: image17.png](b) Referring to your answer for part (a), which one of the variances has had the greatest impact in
increasing the profit from operations? (1 mark)

Sales revenue

Direct materials and direct labour

Variable overheads

Firxed overheads

(c) Which one of the following might have caused the variance for direct materials and direct labour costs? (2 marks)

A decrease in material prices.

Adecrease in employees’ pay.

An increase in material prices.

More efficient usage of directlabour.





Task 10  (20 marks)
[image: image18.png]Identify the correct recommendation for each decision below by dragging the appropriate option into the table. (20 mars)

Relect as more than 2.5 years

Options:

Rejectas per mostimportant
investment criterion

Acceptas greater than cost of
capital

investment criterion

Payback
‘Acceptas positive
NPy ptas po:
RR Reject as less than cost of capital Rejectas positive
Accept as more than 25 years
‘Accept as per mostimportant
Overall
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